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Atcoder Rugular Contest 122

good

C - Calculator

O

O0 $xy$0 OO0 sos0 00000 $M4s000D0

1. $x\gets x+1$%
2. $y\gets y+1$
3. $x\gets x+y$
4. $y\gets x+y$

000 $130$0 0000 $x$ 00 $N(N\le 10™{18})$00

Jodad

0000000 $y$s 00000000000 %3480 $x,y$000000000 $x,y$00000O $03
0000008200000

0000000000000 000D00000000 $\text{gcd}(xy)$000000DOOOOODOODO
000000 $NSOO0O0oooooon

O000DO0O0$NSDOD000D0D0D000D0OD0OD0O0oDOonDOo $y$soooon $\frac
{2N}{\sqrt 5+1}$ 00O

O $\frac {2N}{\sqrt 5+1}-20\le y\le \frac {2N}{\sqrt 5+1}+20$ 00000000

LL cal(LL n,LL p
int pos=3;

LL ans=0;

p>
LL t=n;
t>=p
t-=p;
ans++,

Pos==3)p0os=4;
pos=3;
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int main

LL n=read LL();
LL v=n*2/(sqrt +1);
LL i=max(v-20,0LL);i<=min(v+20,n);i++
cal(n,i)<
LL p=i;
stack<int> s;
int pos=3;
p>
LL t=n;
t>=p
t-=p;
s.push(pos);

pos==3)pos=4;
pos=3;

p=t;

enter(s.size()+n);
LL tn=0,tp=0;
_for(i,0,n

pos==

tn++;

tp++;

enter(pos-2);
Is.empty

enter(s.top ;
s.top()==

tn=tn+tp;

tp=tn+tp;
S.popt);

gd

0000000 $4,3,4,3,43\cdots $00 00 $S$ 0000000000 $380

0000000000000 0 $1,2300000 $F(0)=F(1)=1,F(n)=F(n-1)+F(n-2)$0
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OO0D00D0O0ss000D00ooooossunonos4s0nDOonOn s2s0
OoDo0O0O0 $i(0NeiNleS)s 0000000000000 $x$0000 $F(S-1)$0
O0000000 $NSODDOOOOOooooonO $S=\max\{F(S)\le 10~{18}\}=86%]

000000 $NSDOOODDO $FG)F-1)$ 00000000 $N$SOOODODOODODO $Fi+1)$ 000
OO0O0DOooO0 $\ceil\frac {(S+1)}2\rceil=443[]

000000000 $13080 0O

D - XOR Game

gd

OO0 $2N$s 00000000

0000000000000 $As0000D0O0O000DOODOO $Bs000DDOOOODOODOOOODO
gooboooooood

00000 $n$ 0000000000 $A$0D00000000O0OSBSODODODOOOO0OOODOODOO

gd

0000 $A$00000000D000000O0ODO0O00O $B$0000000000O0O0ODOO0OOO
$As00000DOOOOOoD

0000000000 NS OO000D0O0ODO0000OO000oDooO0o0ooDoo0oooDoOog $is0o0

OO0 $i$00 %00 $1$0 00 00000O0O0O0O0O %00 $0$00000000O0O0O $i$00 %1500
gbobooobboooboo

O000oOooOogo sisoo sosnonnnononoooo $iso0 sy oooooon
0000 $0(n\log v)$[

const int MAXN=4e5+5,MAXL=30,MAXS=MAXN*MAXL,inf=1<<30;
int al[MAXN], ch[MAXS ,hode cnt;
void Insert(int v
int pos=0;
int i=MAXL-1;i>=0;1i--
int d=(v>>1)&1;

Ichipos||d
ch[pos|[d|=++node cnt;
chlnode cnt =ch[node cnt =0;

pos=ch[pos| d];

int query(int v
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int pos=0,ans=0;
int i=MAXL-1;i>=0;i--
int d=(v>>1)&1;

Ichlipos]||d
d*=1;
ans|=1<<i;

pos=ch|pos||[d];
ans;

int solve(int lef,int rig,int pos
lef>rig| |pos< ;
int mid=lef-1;
mid+1l<=rig&&! ((almid+1|>>pos)&1) ) mid++;
mid-lef+1)%2==
max (solve(lef,mid,pos-1),solve(mid+1,rig,pos- ;
ch =ch =0;
node cnt=0;
_rep(i,lef,mid)Insert(alil);
int ans=inf;
_rep(i,mid+1,rig
ans=min(ans,query(ali ;
ans;

int main
int n=read int()*2;
_for(i,0,n)alil=read int();

sort(a,a+n);
enter(solve(0,n-1,MAXL- ;

.
1

E - Increasing LCMs

ud

00000 $N$ OO0 $A$I00 000000000000 $B i=\text{LCM} {j=1}"iAj$s0O000
000

gd

D000 $A$00000000000 $A$00000000 $\text{GCD} \left(A i\text{LCM} {j\neq
i}A j\right)\neq A _i$(0C O $\text{LCM} {j\neqi}A j$00000C0O0O0ODO
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oooooooooooO $\text{LCM} {j\neqi} \left(\text{GCD}(A i,A j)\right)\neq A_i$[]

0000000 $AS00000000000D0000000000DO $AS0000D0O0O00O0O0O00
goboooboogd

00000 $0(n~3\log v)$[]

const int MAXN= :
LL a[MAXN];
LL gcd(LL a,LL b
b
LL t=b;
b=a%b;
a=t;

a,;

LL lcm(LL a,LL b

a:: ||b::
alb;
LL g=gcd(a,b);
a/g)*(b/g)*g;
int main

int n=read int();
_for(i,0,n)alil=read LL();
int i=n-1;1i>=0;1i--
int pos=-1;
_rep(j,0,i
LL s=0;
_rep(k,0,1
k==] ;
s=lcm(s,gcd(aljl,alk ;

s!'=alj
pos=j;
poS==-

puts ("No");

’
swap(al/pos!,alil);

puts("Yes");
_for(i,0,n
space(alil);

?
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